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Subject : English

Cross the word which does not have the same silent letter as the other three words:

1. a)autumn
b) column
c) solemn
d) listen

2. a)cold
b) calm
c) chalk
d) calf

3. a) knowledge
b) kitten
c) knee
d) knock

4. a)again
b) design
c) foreign
d) sign

5. a)scent
b) scissors
c) scale
d) muscles

SUBJECT: MATHEMATICS

1. __ isasquare number
A. 10
B. 81
C. 99
D. 50
2. is the additive identity element.
A 1
B. 0
C. 2
D. 10



3. is a factor of every number.

A 2
B. 10
C. 1
D. o
4. 140 million= crore
A 14
B. 140
C. 14
D. 1400
5. The number which when divided by 25 gives 9 as the quotient and 6 as the remainder is
A. 231
B. 135
C. 140
D. 234

SUBJECT: PHYSICS
MULTIPLE CHOICE QUESTIONS (Select Correct One)-

1. Transport means shifting of-
(@) Only human
(b) Only animal
(c) Only goods
(d) All above.
2. Litre is the unit of-
(a) Distance
(b) Weight
(c) Volume
(d) Time.
3. In “modes of transport”, modes stands for-
(a) The ways we use
(b) The vehicles we use
(c) The objects we shift
(d) All above.
4. The motion which repeat itself but not in equal interval of time is example of-
(a) Random motion
(b) Non-periodic motion
(c) Periodic motion



(d) All above.
5. A piece of stone is simply falling from some height-
(a) It has only one type of motion
(b) It may have two types of motion
(c) 1t may have three types of motion
(d) It may have more than three types of motion.

SUBIJECT : CHEMISTRY

Multiple Choice Question (MCQ)

1. Copper is conductor, while ................... is insulator.
(a) Orange

(b) Rubber

(c) 1Iron

(d) Aluminum

2. Sugaris eatable while ................ is no-eatable.
() Apple
(b) Banana
() Glass
(d) Biscuit

3. lIronis heavy, while ................. is light.
(a) Brick
(b) Cotton
(c) stone
(d) Tree

4. |Iceis solid, while ................ is liquid.
(@) Milk
(b) Sugar
(c) Paper
(d) Pulses

5. Window panes is transparent, While ................. is translucent.



(a) Brick
(b) Stone
(c) Butter paper
(d) water

SUBJECT: BIOLOGY

Multiple choice questions :

1) Which one of the following food nutrients should be present in greater amounts in the diet of a
labourer than an office worker of the same age and weight? a) Carbohydrates
b) Proteins
C) Minerals
d) vitamins

2) The cooking of food at high temperature destroys a major portion of :
a) Carbohydrates
b) vitamin B
C) Vitamin C
d) Fats

3) Which of the following foods can help in keeping the thyroid gland healthy? a) Milk
b) Meat
C) Fish
d) Eggs

4) Roughage is the fibrous part of vegetables and
a) Fruits
b) Pulses
C) Cereals
d) None of the above

5) It help in keeping the environment clean
a) Scavengers
b) Herbivores
C) Carnivores
d) frugivores

SUBJECT—SST

Multiple Choice Questions{Select the correct one}:-



1.Discrimination occurs due to unequal distribution of

(a) money (b) land (c) food (d) resources

2. of the Indian constitution states that untouchability is a criminal offence and has been
abolished by law.

(a) Article 17 (b) Article 14 (c) Article 21 (d) Article 16

3. The constitution of India guarantees certain basic rights.These are called

(a)Fundamental duties  (b) Moral rights  (c)Fundamental rights  (d) Equal rights

4. The oldest form of discrimination in our society is

(a) caste system (b) education system  (c) political system  (d) religious system

5. India is a democratic and

(a)small country (b)secular country  (c)undeveloped country (d)political country

SUBJECT: COMPUTER

Multiple choice questions (select the correct one):-

1. In computer we can record our voice with the help of
a) Headphone
b) Microphone
¢) Burning CD
d) None of these

2. Natural Language represents the Generation of Programming Language.
a) 2nd
b) 3rd
¢) 5th
d) None of these



. takes us directly to desired documents, pictures, songs etc. that we use
frequently.

a) Jump List

b) Sound Recorder

c) Disk Scanner

d) None of these

. HTML, JAVA, Smalltalk etc. are examples of which language?
a) Assembly Language

b) High Level Language

c) 4"-generation Language

d) None of these

Disk is used to remove unnecessary files which are not being used
for a long time.

a) Defragmenter

b) Scanner

c) Cleanup

d) None of these
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